


- F’Jﬁﬂﬂ .m__”_filis,-d,:,,'

&
T

oBg#Mit& Automatic testing bench

OfnId» CNC machining center

OHIEHAR NC machines

OZEFE Stator grinding machine




&b
PV2RE %M R BJ

PV2R series vane pumps

PVZR%E“EE{&@E u'l'}!l'ﬁ PV2R Series high pressure vane pumpswith lower noise

VY5 b1

PV2RAFIGERREHAREALAAFEANHESR, ZREBEFESSENIELE=RMAEM LM ENEFHESERTF
f, BESWEIR. A, MES. BRER. . TENFSEES. ZZIETE, REEBERTHESERWEMERRE
o, BEZNRERFREEZERT, AHEERNIRLEFREREX, MXAEAR, NzZRBAFNRKR. BRI, BENR. T
R, BN EE
Products introduction

PV 2R series high pressure vane pumps with lower noise are the new developed products with the integration of the advantages of similar products at home and
aboard in recent years, with the features of rational structure, high performance, high efficiency, lower noise, small pulsation, strong reliability, etc. The pumps provide
extreme convenience for users and meet the substitution requirements for similar products with full specifications, national and international standard mounting
dimensions, as well as derivative series mounting dimensions, making the pumps widely applied in the fields of machine tool industry, plastic machinery, forging
machinery, engineering machinery, transportation machinery; etc.

B % Single Pumps

BISi5% B Model Descriptions

PV2R1 1 —x —F —1 —R —A —A
| = NERHES .
AthE (TRAS AT R LIPS mpps | JERAE B O E WA D&
Vane pumps | subsidiary Nominal Mounting type | Shaft extension rotation Outlet position Inlet position
codes series displacement
(MEhIHE)
6,8,10,12,14,17, EEte L " (NEIEE)
PV2R 1 19,23,25,28,31 R(Egzm (hain) A b5 (FRA)
R AE) A EH(FRAE)
E: 1 j(_mﬁ‘;ﬁ (from shaft end) R. B. L Bf-Fj’_
sEa ot 1: Major shaft | R: Clockwise G OAEEH E7) R:Eﬁ
standard direction LT
PV2R 2 2563'3;%"&";75' F (Right rotation gfoljn Shaft&e”(:j) ) (from shaft end)
D Flange mounting | 2 N standard) - Upper(Standard) AU derd
2: Minor shaft R. B. L - Upper(Standard)
L3 B §t 75 8 (Outlet port A is set B: Bottom
(L) as upper.) R: Right
PV2R 3 52,60,66,76,85,94 L:Counterclockwise L: Left
116,125,136,153 direction
(Left rotation)




&b
PV2RE %M F R B—‘

PV2R series vane pumps

PVZR%E“EE‘&@E"'I’H; PV2R Series high pressure vane pumpswith lower noise

HAKE# Technical parameters

REe{EAEN Max presure R R
g i R e R kS R Allowes divingpeed | &
B2 Theoretical Working oil of Petroleum series Water-based synthetic hydraulic fluid Weight
Model dlspla:ement = = — s S =3: =12 = (kg)
(mL/r) lﬁ!Eﬁ##ﬂi?E FERE S | 8T ﬂﬁ??&*'lbkz._@% ﬁi’é@‘&ﬂaﬂaﬂﬁ@ﬁﬂa =3 =K
Partlcular_ Anti-wear oil | Common oil | Anti-wear water Sul phosuccml_c Max Mini
pressure oil -glyco ester fatty of acid
PV2R1-6 6.1
PV2R1-8 8.1
PV2R1-10 10.2
PV2R1-12 12.3
PV2R1-14 14.0 1800
21 17.5 16 16 16 750 8
PV2R1-19 18.3
PV2R1-23 22.5
PV2R1-25 25.1
PV2R1-28 27.6
PV2R1-31 30.6
PV2R2-26 25.4
PV2R2-33 32.2
PV2R2-41 40.5
Pv2R2-47
46.2 21 17.5 14 16 14 1800 600 16
PV2R2-53 52.3
(1200)
PV2R2-59 58.2
PV2R2-65 64.1
PV2R2-75* 74.5
PV2R3-52 51.5
PV2R3-60 62.9
PV2R3-66 67.0
PV2R3-76 79.2 21 175
1800
PV2R3-85 84.5 16 32
PV2R3-94 93.8 14 14 (1200) 600
PV2R3-116 113.2
PV2R3-125 122.8
17. 1
PV2R3-136 135.8 5 6 1200
PV2R3-153|  152.8 14 #34
i
1. AFREEE “67 . “8” ], #Bid16MpalE AR, #iEAF{KF1450r/min.

N

. ERKE. ERRERE, |mEiFERREI 12001 / min.

« MFEREKEREERISES, EITEREAL000r / min, &5 L{EEH7EL12~14MPa.

. B APV2R2-WLHIRRMAE, B#LAPV2RI-WH2NMARME, RIEMK10mm, RERTHE, ZSHHFRITER.
5. RHMNFIEMHE: REHEE (mUr) XEBEHEE (r/min) XT/EEH (MPa) /49000. i+E 4R BERIHKW,

Notes:

1. The rotation speed shall not be less than 1450r/min for the pumps with the nominal displacement of 6 ml/r or 8 mi/r working under the pressure exceeding 16M pa.

2. The highest rotation speed shall be limited within 1200r/min, while applying with water-based synthetic hydraulic fluids.

3. It isrecommended to work with rotation speed of 1000r/min and maximum pressure of 12-14Mpa on the occasion where lower noise is strictly required.

4. Those pumps with the marks * belong to the extension specification of PV2R2-W group. Those pumps with the marks # belong to the extension specification of
PV2R3-W group. These two groups pump casing are 10mm longer than usual specification for special order.

5. The approximate calculation formula for driving power is as follows: the displacement of pump(mL/r) X the rotation speed of motor(r/min) X the working pressure
(Mpa) / 49000. The unit for the final calculation result is KW.

AW



PV2R% 31| i 7 3R
PV2R series vane pumps

PVZR%E“EE‘&@%"'I’HE PV2R Series high pressure vane pumpswith lower noise

SPEIR RRERRT

Shape and installation dimensions

ZERER. PV2R1-*-F-1-RAA
Flange mounting: PV2R1-*-F-1-RAA

106 | 58 25 36
2-@115 |
J 1
B
N 25
) S 1A ] N I N . |
J >-V -
140 174
A @28 216
|AD \ 0 \ 2
Inlet Outlet — |~
E F E

@\ N = &

c:éi

b ) <]

\_/ Q

@T | @
H G -
5 4-M10x18 26 / 17.5 / _4-M8I15
LR q b h #iE

Shaft extension Remarks
1 219.05 505 | 475" | 21.24 546 Ma,jér%m
2 ©15.88 003 | 3.97 2% | 17.68 916 Mié{)‘rﬁm




PV2R% 31| it 7 3R
PV2R series vane pumps

PVZR%E“EE‘&@%"'I’HE PV2R Series high pressure vane pumpswith lower noise

ShEIR RFEERT

Shape and installation dimensions

ZERRE: PV2R2-*-F-1-RAA
Flange mounting: PV2R2-* -F-1-RAA

29 47

73

141

‘32‘

funl] inmfl

@ 36(240)

215

59

4-M10x18

0
-0.05

N 9 ¢
| ) —
Q
| $ @f
/ 2 4-M10x18
-~ 30 — -~ l— -
T 3 g ) &3
Shaft extension Remarks
A
1 @25.4 {0 28.18 915 Major shaft
7|\
2 222306 | 25.01%1 Min{f;ﬁm




PV2R% 31| i 7 3R
PV2R series vane pumps

PVZR%E“EE‘&@%"'I’HE PV2R Series high pressurevane pumpswith lower noise

SPEIR RRERRT

Shape and installation dimensions

ELRER. PV2R3-*-F-1-RAA
Flange mounting: PV2R3-* -F-1-RAA

63

2-218

90
|
L

0
-0.05

31.75

176

213 266

250 225

A WD \ HO \ 9
Inlet Outlet —| ==

59

(ki

0
-0.05

2127

. TR
a@?}fgjg

5 4-M12x21 43 / 30 / 4-M10x19
|




PV2R&Z 3 /3R

PV2R series vane pumps

PV2RZ %I & E {1

t"'l'#l'ﬁ PV2R Series high pressure vane pumpswith lower noise

MEEM B3R

ARFIRHARE M FHNPV2RAFIER; HERARER—F

etk epiz:[W R
RBAIRORTIES

Double vane pumps

, AIRBEMRE.

RAmAR, -1

WERBIPB AN R A BRI RZ .

PR E 3 O AR AT LU 1) 7 3 57 =]

The double vane pumps are composed with two single PV 2R series pumps, which were driving by one shaft and were assembled in paralel in one pump casing
with one common inlet port and two outlet ports that connecting to two individual oil circuits.
A variety of flows can be obtained by different combination of the two pumps. The power of double vane pumps is the power sum of two single vane pumps.

PV2R 13 - —* —F —1 —R —A —A —A
FRUS|  EER i S - N Eipm HiH
SOF.| Codeof | AMHE | AMGHR | REEX | MR | e #EONE | AHOGE | mAORE
I\/'I:gdelg subsidiaries Cover end pump) Shaft end pump| - Mounting Shaft Direction of Cover end pump | Shaft end pump| Inlet position
series displacement | displacement type extension rotation outlet position outlet position
(mL/1) (mL/r)
(5hSHE)
E: 72 £7545° Gt
F: & L7745
6,8, G: AT H4S
10,12, 26, 33, H: £ T /545°
14,17, 41,47,
PV2R 12 19,23, 53,50, ki) | LoD SALen,
g? 28, 65,75 RiIFETE 75 [8] " (Standard)
(B HEFRAE) F: Upper right 45°
(from shaft end) | G: Bottomright 4:5" A: E75 (R | A: E75 (o)
R:Clockwise H: Bottom left 45’ | i 3R AT B: T/
. - R HHOfE | RAS
. i-ﬁ@ﬁfdt direction A L7 ) WEALR |LES
S : Major i i B: T}
?0812 52, 60, e L] p 3Jd y (Right rotation R~£7’5
1417, 66, 76, ] andar standard) L AR A: Upper A: Upper
PV2R 13 ' 85, 94, F: : (standard) | (standard)
19, 23, 116 125 Flange A: Upper (standard) o
25,28 e 98 | 2u)vE . B: Bottom outlet position| B: Bottom
18, 136, 153, mounting | . r,: L: iRt &t 75 =) = f ‘ Right
31 2: Minor i R: Right of shaftend | R: Right
shaft ( ) L: Left pump L: Left
L:Counterclockwisel shall be set as
Direction E:Z £7545° GR) | upper
(Left rotation) F:4E745
G: 5T /45
26, 33, 52, 60, H: 27545
41,47, gg ;g’ (from shaft end)
PV2R 23 53 50, 85,94 E: Upper left 45"
65,75 136, 153, (Standard)
. 133, F: Upper right 45°
G: Bottom right 45’
H: Bottom left 45°




PV2R& 5Nt /3R

PV2R series vane pumps

PVZR%E“EE‘&@%"'I’HE PV2R Series high pressure vane pumpswith lower noise

FAREH Technical parameters

REEMREN Max pressure RiFEEE
P& | ey | ADHS B R LI KEE AR Aol ™= 7
e Hale . Working oil of Petroleum series Water-based synthetic hydraulic fluid Weight
Model Outlet displacement
ode (i) | EERSEH | g | g | WEEKZ B | MEEEVEE | gx | e | (O
Particular | A i-wear oil | Common il | Anti-wear water | Sul phosuccinic | vax | Mini
pressure oil -glyco ester fatty of acid
-6
-8
-10
-12
14 14 1800 600
o
5 -14
%Q.
e
?ﬁg -17
Q
o
PV2R1 -19
-23
22.5
PV2R12
-25
21 17.5 16 (1200)
-28
-31
-26
-33
o
$EH§
o
%ﬂﬁ? -41
7}
8
@ a7
16 16 750
PV2R2
-53
-59
-65
i

1. ERAKE. GRRERN, REEERSEIZEL1200r / min.

2, MFEHRERREERSS, BILTIEREEL000r / min, &S ITIEENTEL2-14MPa.

Notes:

1. The highest rotation speed shall be limitedwithin 1200r/min, while adopting water-based synthetic hydraulic fluids.

2. It isrecommended to work with rotation speed of 1000r/minand maximum pressure of 12-14Mpa on the occasion where lower noiseis strictly
required.



PV2R% 51 A 3R

PV2R series vane pumps

PVZR%E“EE‘&@%"'I’HE PV2R Series high pressure vane pumpswith lower noise

FAREH Technical parameters

BEfEMAES Max pressure RAFEEIR
FE | ey | ABEE B R LI KEE LR Ao i 7 ms
e | M7 H | Nominal Working oil of Petroleum series Water-based synthetic hydraulic fluid Weight
Model Outlet displacement — . N . Kk
i) | BERBER | o | e | HEMKZ B | SEEEDEE | ga | gr | O
Particular | A i “wear oil| Common oil| Anti-wear water | Sul phosuccinic | p1ax Mini
pressure oil -glyco ester fatty of acid
-6
-8
-10
-12
-14 16 16 1800 | 750
g
= B -17
it
R o -
2 19
o
PV2R1 23
-25
37.5
PV2R13 28
-31 21 17.5 16 (1200)
-52
-60
-66
-76
g
M2 -85
if @
2 % on 14 14 600
)
PV2R3 -116
-125
-136
17.5 16 14 1200
-153
iE:

1. fERAKE. SRRERN, &55%ERSIZEL1200r / min.

2. WFEHRERRRENIES, EWTEFEREL000r / min, &5 TIEENTEL2-14MPa.

Notes:

1. The highest rotation speed shall be limitedwithin 1200r/min, while adopting water-based synthetic hydraulic fluids.

2. It isrecommended to work with rotation speed of 1000r/minand maximum pressure of 12-14Mpa on the occasion where lower noiseis strictly

required.



PV2R& 5Nt /3R

PV2R series vane pumps

PVZR%E“EE‘&@%"'I’HE PV2R Series high pressure vane pumpswith lower noise

HASH Technical parameters

RefEMAESN Max pressure 5T B i
P& | ey | ADHS B R LI KEE AR Aol ™= 7
e Hale . Working oil of Petroleum series Water-based synthetic hydraulic fluid Weight
Model Outlet displacement (ko)
ode (mi/r) BERESEM | omosrmon | amosmsn |MEMKZ 8 | BBIREHERE | 2= | = g
Particular iﬁ?\,’vﬁgﬁl go%rﬁféﬁ Anti-wear water | Sul phosuccinic :Aia'? :/Iiiﬁ&i
pressure oil -glyco ester fatty of acid
-26
-33
o
£ -41
=3
e
Ro -47
3
O
PV2R2 53 1800
-59
-65
PV2R23 -52
-60 21 17.5 14 16 14 600 45
-66
o -76
g (1200)
o
i% 2 -85
=E
3
-94
PV2R3
-116
-125
17.5 16 14 1200
136
153
i

1. FRAKE. ERERERMN, e RRHI7EL1200r / min.
2. WFESEREFENIZS, B TIEREAEL000r / min, & LIEEH#EL12-14MPa.

Notes:
1. The highest rotation speed shall be limitedwithin 1200r/min, while adopting water-based synthetic hydraulic fluids.
2. It isrecommended to work with rotation speed of 1000r/minand maximum pressure of 12-14Mpa on the occasion where lower noiseis strictly

required.

9



PV2R% 31| it 7 3R
PV2R series vane pumps

PVZR%E“EE‘&@%"'I’HE PV2R Series high pressure vane pumpswith lower noise

ShEIR RFEERT

Shape and installation dimensions

ELRER . PV2R12-*/*-F-1-REAA
Flange mounting: PV2R12-*/*-F-1-REAA

174

| 118 | 81 29 47
| | |
—
| H
o “ . K] N ‘ 32 ‘
L View arrow K ¢ &
B 2 1
|
T\N 2-214 D‘ 4
| 146 215
216 @50 220
HH O mAO HHO
Outlet Inlet Outlet l% ‘ 9
cg
2| =
®
© &
4-M10x1,
4-M12x21 &
View arrow K
EREE d h #iE
Shaft extension Remarks
1 @25.4 §05 28.18 915 Mq-’grﬁm
2 22223 % | 25.0134 Miéjo‘rﬁan

10



PV2R% 31| i 7 3R
PV2R series vane pumps

PVZR%E“EE‘&@%"'I’HE PV2R Series high pressure vane pumpswith lower noise

SPEIR RRERRT

Shape and installation dimensions

ELRER . PV2R13-*/*-F-1-RAAA
Flange mounting: PV2R13-*/*-F-1-RAAA

13

90.5

[
8

125 100 ‘ 34 63
‘
K % e N ‘ 40
o — -~
View arrow K g
B L —+ — _ N
Y J
il "
= ~
—
o™
7
354
216 a70 225
WmAO  HHA
3‘(jJFlﬁ%lJleDt \ Inlet Outlet

==
=\
\ 7/

| IKJ/§
L \
K

View arrow K

11

59

|

4-M8x15

38

|

oY
-

@T&

175

4-M16x28

106

4-M10x19

0
-0.05

@127




PV2R% 31| it 7 3R
PV2R series vane pumps

PVZR%E“EE‘&@%"'I’HE PV2R Series high pressure vane pumpswith lower noise

ShEIR RFEERT

Shape and installation dimensions

RERER. PV2R23-*/*-F-1-REAA
Flange mounting: PV2R23-*/*-F-1-REAA

3 ‘ 146 ‘ 100 ‘ 34 63
| ‘
<&
o K 3 {l?* {E% 40
2] 2]
View arrow K & &

181

)

@31.75 505 ‘

=
ﬁ

378

4-M10x18

@ 20 275 @25
HEE O \u&m HEEO

Outlet Inlet Outlet \ [ ‘ 9

i @

S (2]
S| 9]
& [o X@
62 30 -
AM16x28 62 /H _4-M10x18

View arrow K

[
-0.05

2127



&b
PV2RE %M R BJ

PV2R series vane pumps

iﬁ E ﬁﬁgﬂﬁ: Flange components

REEERST Installation sizes

F3X-A(RCIZLEY) F3-B(IE#EHY)
F><-A(Rc thread type) F>-B(Welding type)
] J
J
E
N
. O I ,
: O-typering O/ )
™ O-typering
o {}
: e
fa)
) = <
4 , i
i =i -
t 17,
4- o HiEFL 4-A7< FRigsT —JK ~ K
4-dH hole 4-inner hexagon screw 4—.|7\]/\ MIRST —
4-inner hexagon screw
S+ . 1257
E = Q? R~ mm M | i
S| o Sizesmm omE | B | N sEEFEED
Flange i O-typering hinnef Iggigg Corresponding pumps
5 Exagon connector
models [ g | C D E F H J | K L N Q T |cB34521-82 xS | sren
N-m
PV 2R1H O
FO4 A 1727 | ——| — P\{ 2R12. PV 2R13
1/2” | 43 | 59.0 | 175 | 38.1 | 9.0 | 28.0| 11 13 [21.2x2.65| M8x30 | 35 EIERE O
' ’ : ) : : ’ PV2R1 port
F04-B - 11 225 PV. 2R12. PV2R13 cover
end pump port
PV 2R2. PV 2R12
F06-A 34 | ——| — fm IR g =
» PV 2R23ZimRE H A
3/4 532|716 | 222 | 476 | 11.2 | 30.0 | 11 19 | 30x3.55 | M10x30 | 68.5 PV2R2. PV2R12 shaft end
F06-B — | 12 285 pump port
PV 2R23 cover end pump port
FO8-A o] —
— 17 58.0| 76.4 | 26.2 | 524 | 11.2 | 30.0 | 16 26 |34.5x3.55| M10x35 | 68.5 E\\llzgi]i_:ﬁt)\n
F08-B e 14 345
PV 2R2IEAO
F10-A 1148 | ——| —— PV 2R3t A. PV 2R13
— 114|577 | 847 | 302 | 58.7 | 120 | 40.0 | 16 32 | 40x3.55 | M10x45 | 68.5 E\‘/’;‘;ﬁiﬂﬁﬁﬁﬁﬂj A
F10-B — 16 43.0 PV2R3 port, PV2R13,
PV 2R23 shaft end pump port
F12-A 1-127 | —| —
—1-1/2”| 70.0 | 96.0 | 35.7 | 69.9 | 13.8 | 40.0 | 18 38 | 50x3.55 — | 118 —
F12-B E— 18 49.1
F16-A 27 | — PV 2R3. PV 2R12
—_— 27 87.0 |105.0 | 429 | 77.8 | 13.8 | 40.0 | 18 51 | 65x3.55 | M12x45 | 118 | g A0
F16-B — | 20 | 610 PV2R3. PV2R12 inlet
F20-A 2-1/27 | ——| ——
—2-1/27| 96.0 | 116.0| 50.8 | 88.9 | 13.8 | 45.0 | 18 63 | 75x3.55 - | 118 I
F20-B —_— 22 77.1
E24-A || PV 2R13. PV 2R23
— 3” |121.0{141.4| 61.9 |106.4| 17.0 | 45.0 | 17 76 | 85x3.55 | M16x45 | 287 | lRAH
F24-B e 25 90.0 PV2R13. PV2R23 inlet
F28-A 3127 | —| — M16x40
———3-1/27|136.0{155.0 | 69.9 | 120.7 | 17.0 | 50.0 | 17 89 | 100x3.5 287
F28-B e 28 | 102.8 M16x50
F32-A 4” _— — M16x40
——_ | 4” |145.0/162.0| 77.8 |130.2| 17.0 | 50.0 | 17 3.5 287 -
F32-B e 28 | 115.5 102 115x M16x50

13



